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             jkpo; - Mz;L 10 
 

 

 
 

 

Gyd;nkhopj; Nju;T 
 

Nfl;lYk; tpsq;fpf;nfhs;SjYk; 
 

m - gFjp 

xypapWntl;by; xypf;fg;gLk; ciug;gFjpiaf; Nfl;L> tpsq;fpf; nfhz;L> 
fPo;f;fhZk; $w;Wfs; rupahapd;  vdTk;> gpioahapd; vdTk; 
fl;lj;jpDs; milahskpLf.                                                                                                       

 

1. ,ir> Mly;> Xtpak; vd;gd ftpd;fiyfSs; rpythFk;.   
 

 

 

2. fiyfs; kdr;Nrhu;it ePf;Ftjhy; khe;ju; fiyfis 

  Efu;e;J kfpo;tilfpd;wdu;. 
 

3. jkpou; fiyfisr; nrt;tpay; fiyfs;> ehl;Lg;Gwf; fiyfs;   

  vd ,uz;lhf tFf;fyhk;.  
 

 
  

4. tpy;Yg;ghl;L> Fk;kp Nghd;wit nrt;tpay; fiyfs; MFk;. 
 
 

   

5. $j;Jf;fiy jkpoupd; njhd;ikahd fiy tbtk; MFk;. 
  
 

 

 

6.   jkpoupd; Mlw;fiy Kw;fhyj;jpy; $j;J> el;lk;> elk; vd;W  

  miof;fg;gl;lJ  

 
 

7. fiytpohf;fspy; ehl;Lg;Gwf; fiytbtq;fs; ,lk;ngWtjpy;iy. 
 

 
 

8. vkJ fiytbtq;fs; mope;Jtplhky; fhf;fg;gl;L tUfpd;wd. 
 

 

 

 

ngau;: 

 

; 

ehs;: rdpf;fpoik

 

; 

 

 

(8 x  ½  = 4 Gs;spfs;) 



 

  

M - gFjp 
 

 xypapWntl;by; xypf;fg;gLk; ciuahlw;gFjpiaf; Nfl;L> tpsq;fpf; 
nfhz;L fPo;f;fhZk; tpdhf;fSf;F tpil vOJf.   

 

1. nrd;w Mz;L eilngw;w gy;ypdg; gz;ghl;L tpohtpy; Mba eldk;   
  vJ? 
 

     ___________________________________________________________ 

2. ve;jj; jiyg;gpy; fhnzhspf;fhl;rp Mf;fpj;jUk;gb Nfl;fg;gl;lJ? 

     ___________________________________________________________ 

3. fhnzhspf; fhl;rpg;gLj;jy; ahUila cjtpAld; nra;ag;glTs;sJ? 

 
 

     ___________________________________________________________ 

4. tpahrd; ve;j ,irf;fUtp gapy;tjhff; $wg;gl;lJ? 

 
 

     ___________________________________________________________ 

5. jkpoupd; Xtpaf;fiyf;Fr; rhd;whf tpsq;FtJ vJ? 
 

 

     ___________________________________________________________ 

 

6. muq;F mikf;fg;gl Ntz;ba Kiwia tpupthff; $Wk; Áy; vJ? 

 
     ___________________________________________________________ 

                                                 

 

 

 

 

 

 

 

(6 x  1  = 6 Gs;spfs;) 


